
Read each question. Select the correct answer.

       1. A rectangular park has a length of  mile and a width of  mile. Before Amanda finds the perimeter, she

wants to determine a reasonable answer. Which calculation should she use?   5.NF.2

a. 1  1  1  1 = 4 miles

b. 1    1   = 3 miles

c.    = 1 mile

d. 1  1 = 2 miles

       2. What are the next three terms in the sequence?   5.OA.3

3, 6, 12, 24, 48, ...

a. 51, 54, 57

b. 96, 192, 384

c. ​72, 96, 120

d. ​54, 60, 66

       3. Colin earned $50 mowing lawns. He used his earnings to buy two video games for $18 each. Which numerical
expression represents this situation?   5.OA.2

a. 50  2  18

b. 50  (2  18)

c. 50  2  18

d. (50  18)  2
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4. Justine is wrapping two gifts. She used 2  feet of ribbon for the first gift. She used 3  feet of ribbon for the

second gift. How much ribbon did Justine use in all?   5.NF.2

a. 5  feet b. 6  feet

c. 5  feet d.   6  feet

Use the coordinate plane.          5.G.2
What is the name of each point?

5. Name the coordinate for point A.    5.G.2

a. (2, 3) b. (6, 1)

c. (5, 6) d. (0, 4)

Find the value of each expression.
6. Write the phrase as a numerical expression.    5.OA.2

subtract 4 from 39, then divide by 5
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Answer Key

1. b

2. b

3. c

4. b

5. d

6. (39 – 4) ÷ 5
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